
with your table , discuss
:

Give a DFA that recognizes binary
strings divisible by 5.
8421
1010 is 10 in decimal

accept

168421
01 is 7 in decimal reject

remember:
- we have to process input I to R
- we can't have unbounded variables
(infinite States

Trick :

binary
ToDivBy5 (w) :

... 8421

decimal = ( Do
for i in Length (w)

:

doubled
decimal = Idecimal

+wilMy
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draw graphical DFA
- states Q
- startI

- Accepting A ⑳
- transitions It

S(g ,a)
= (2q + almods



How to go from an algontum to a
DFA

# last 20
0
/
10&

Futracter found :

↓ we see EFALSE ,
TRUES

-

- last 2 :
E

-> 20
, 1 , 01 , 00,

10 , 113

Q= ordered pairs of vars

(found
,
last2)

CTRVE
, 11)
If /TRUE , 10)

IMOSTRUE
, 11)(FALSE

, 1) EQ

S = (FALSE , 2

↑
Tor F ?

A = any state w/ TRUE in ist position
8 : as in algorithm





-troductconstructionaccepts
strings

containing both substring 00 and 11.

M2 ,
accepts strings containiis

11
G100/100

state
of MSTake ofM2

⑧ ↓

Mi
, = M

accepts O
strings
containing
00

-

(b ,a)
↓

Given M .
= (Q , ,

5
,,

A
, S ,)

M2 = ( Q2 , S2 , Az , 82)



The product construction M :

Q = Q
,
xQ = E(p, q!: peQ , g ,

Q2)

S = (S
,, Sz)

A = 2(,9) : PtA ,
and
g -Az]

S((p,q)
,
a) = (S .14 9) , 32(g ,a)↑

state in My state in&


